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Atoms: The Building Blocks of Matter Quiz

DIRECTIONS: Write on the line at the right of each statement the letter preceding the word or expression that best completes the statement.

1. Dalton’s original theory essentially was in agreement with the present atomic theory except for the statement 
a. all matter is made up of small particles called atoms; 
b. atoms are not subdivided in chemical reactions; 
c. atoms of the same element are chemically alike; 

d.  all atoms of the same element have the same mass.

2. If 6g of element K combines with 17g of element L, how many grams of element K will combine with 85g of element L? 
a. 17g; 
b. 23g; 
c. 30g;
d. 91g

3. Oxygen can combine with carbon to form two compounds, carbon monoxide and carbon dioxide. The masses of oxygen that combine with a given mass of carbon have a ratio of 1:2. This is an example of 
a. the law of conservation of mass; 
b. Dalton’s atomic theory; 
c. the law of conservation of energy; 
d. the law of multiple proportions. 

4. If 63.4 g of copper (Cu) combine with 16 g of oxygen (O) to form the compound CuO, how many grams of oxygen will be needed to combine with the same amount of copper to form the compound CuO2? 
a. 16g; 
b.  32g; 
c.  64g; 
d.  127g
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Atoms: The Building Blocks of Matter Quiz

DIRECTIONS: Write on the line at the right of each statement the letter preceding the word or expression that best completes the statement.

5. Dalton’s original theory essentially was in agreement with the present atomic theory except for the statement 
a. all matter is made up of small particles called atoms; 
b. atoms are not subdivided in chemical reactions; 
c. atoms of the same element are chemically alike; 
d.  all atoms of the same element have the same mass.
6. If 6g of element K combines with 17g of element L, how many grams of element K will combine with 85g of element L? 
a. 17g; 
b. 23g;

c. 30g;
d. 91g
7. Oxygen can combine with carbon to form two compounds, carbon monoxide and carbon dioxide. The masses of oxygen that combine with a given mass of carbon have a ratio of 1:2. This is an example of 
a. the law of conservation of mass;

b. Dalton’s atomic theory; 
c. the law of conservation of energy; 

d. the law of multiple proportions. 
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